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Measuring Duckweed
Students’ Sheet
Calculating the total amount of duckweed 
To calculate the total mass of biomass of duckweed in your pond or aquarium you will:

1. Calculate how many individual plants are in each tea-strainer sample.

2. Calculate the number of plants in the pond or aquarium.

3. Calculate the mean mass of an individual plant.

4. Calculate the total mass of all the plants in the pond or aquarium.

1. To calculate how many individual plants are in each tea-strainer sample (N)

· N = number of plants counted in the sampled areas of the tray  x (total area of tray ÷ area of tray sampled)

2. To calculate the number of plants in the pond (P)

· P = N x (area of pond ÷ area of the tea-strainer)

3. To calculate the mean fresh mass of a duckweed plant (M)

· M = mass of strainer sample ÷ N

4. To calculate the total biomass of duckweed on the pond in grams (T)

· T = P x M 
	· Look at this example of some class results – how many millions of Lemna plants and how many kg of biomass do you think there were in the pond? Have a guess before you start the calculation!
· The area of the pond was 3,100,000 cm2.
· The tray measured 25 cm x 35 cm, and 129 plants were counted in an area of 60 cm2, covered by an inverted petri dish. 
· The tea strainer used for sampling had a diameter of 7 cm, and the fresh mass of the sample in the tea strainer sample was 5.5 g.
Now calculate the biomass and numbers of duckweed per unit area of the pond (e.g. per m2). 
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